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Name


: ________________________

Index Number
: ________________________

Class


: ________________________
Write your answers and working on the separate answer paper.

electronic calculators or mathematical tables may be used in this paper.

a) Factorise 
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[2]

b) Solve 
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, giving your answers correct to 2 decimal places.
[4]

c) Simplify 
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[3]

d) Solve the simultaneous equation:
[3]
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2. Given that 
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. Find, without using calculators, the value of each of the following, giving your answers in standard form.

a) 
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b) 
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c) 
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[2]

3. In the diagram below, ABC is a straight line with 
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a) the length of CD,
[2]

b) the length of AB,
[2]

c) area of 
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[2]

d) In a pentagon, two of the interior angles are 
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 and 
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. The remaining three angles are equal. Calculate one of the equal angles.
[3]

e) The diagram below shows a circle with centre O and 
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i) Write down the value of 
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[1]

ii) Calculate the value of 
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[2]

4. A group of 78 pupils were tested and the number of sit-up they could do in 1 minute were recorded. The frequency table is shown below.
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a) Construct the cumulative frequency table.
[2]

b) Using a scale of 2 cm to represent 10 sit-ups on the horizontal axis and 2 cm to represent 10 pupils on the vertical axis, draw the cumulative frequency curve.
[2]

c) Use the curve to find,

i) the median,
[1]

ii) the number of pupils who did more than 45 sit-ups in 1 minute.
[1]

5. The diagram shows the speed-time for a particular journey. Find
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a) the initial speed,
[1]

b) the acceleration during the first 5 seconds,
[2]

c) the total distance travelled,
[2]

d) the average speed of the whole journey.
[1]

End
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